n—Avy

FEp - fEH BN W4 IN—4 718 B AL fii & PP
1 LR |BEREE A AR 2 | 4i27i35 P~
DA 2 REAR [REARR FH BE 1 [ 4:i15i85 P~
1X 3 Ky | KGR Bt d#hit 3 | 4i32i61 P IS~ 2
Tk 4 Peg eI SHl %E 4 | 5:06:06 JCE RIS~
14 5
1 Ely | EWE N E5E 2 | 4i34i45 P~
DAL 2 faEle  |[fER R A S 3 | 5:i00:75 PRI~
1X 3 e 1 | 4:22:i38 P~ 2
Tk 4
240 5
1 FiR | ERER L@ &t 1 [ 3:i49:12 P~
DT 2 PP [P PR RS 4 | 4i22:03 JHE TG~
1X 3 Koy | R/ R 2 | 3 i53i93 P~ 2
Tk 4 fEle  [fEEE R 2R ORAR 3 | 3i59i52 Pt IR~
14 5
1 i |ERR R Am 3 | 3i57i13 JCE RIS~
DT 2 e REARE BpH ME 2 | 3i54i45 Vs~
1X 3 R |EREE LA B4 1 |3 i53:68 Vs~ 2
Tk 4 Ve [EBIR OKT 4 | 4:09:04 JCE RIS~
240 5
1 Eli | ERE 1 | 4:i12:36 P~
DA 2 Koy | Kok 4 | 4 i24i21 JHE TG~
2% 3 = 2 | 4 i16:88 P~ 2
Tk 4 YR BRI E 3 | 4i23i89 JCE RIS~
14 5
1 HE REARIR 1 [ 4:i12:i02 Vs~
DA 2 Ve R 2 | 4i20:i62 P~
2% 3 fa ) | ] R 3 | 4:i45:i56 Pt IR~ 2
Tk 4
2%H 5
1 = 1 | 3:49:26 P~
DT 2 REAR [RERIR 2 | 3i50:i34 P~
2% 3 fw | e ] R 3 | 3i51:77 Pt IR~ 2
Tk 4 R 4 | 3 i53i60 JHE TG~
14 5
1 YR |BIREE 3 | 3i58:i77 JCE RIS~
DT 2 Eli | ERE 1 [ 3 :i37:i72 P~
2 X 3 Koy | R R 2 | 3 i43:08 P~ 2
Tk 4
240 5
1 BRI R 3 | 4i21i12 JCE RIS~
DA 2 = 4 | 4 i43:i51 JCE RIS~
4%+ 3 Koy | R R 1 | 3 i58:i67 P~ 2
Tk 4 El | ERER 2 | 4i03i95 P~
14 5
1 : REARIR 1 [ 3i45:i81 P~
DA 2 fE ) | e R 2 | 4:02:17 P~
4%+ 3 [ O 3 | 4i20:i59 JHETH~ 2
Tk 4
2%H 5
1 [ O 4 | 3 :i58:05 JCE RIS~
DT 2 Eli | ERE 2 | 3i19i85 P~
4%+ 3 BRI E 3 | 3i34:17 JCE RIS~ 2
Tk 4 REAR [RERIR 1 [ 3:i17:i87 Vs~
14 5
1 Koy | Kok 1 [ 3i16:i74 Vs~
DT 2 = 3 | 3i27i92 JCE RIS~
4X+ 3 fa ) | ] R 2 | 3i17:29 P~ 2
Tk 4
241 5




n—Avy

FEp - fEH BN W4 IN—4 718 B AL fii & PP
1 e eI T BRI 3 | 4:i36:31 P TS~
R T 2 e [REARE KRR 50 2 | 4i18:i04 P~
1X 3 Ky | KRB g 0FE 1 | 4 :i16:45 P~ 2
Tk 4 FEVRE | BRI dul BEfn 4 | 4 i43:i46 PR~
1FH 5
1 Elg | EIBE &) #E 3 | 4:32i43 HEAE T~
AR 2 B |[EEE BE R 2 | 4 i29:77 P~
1% 3 EIF | B AKE EIE 1 | 4 i25:i93 R~ 2
Trisk 4
2%H 5
1 HEAR  [HEARE AkH yEAH 2 | 3:37i00 P~
AR5 2 VeRs [VeRRR VeRE R 1 | 3i34:28 P~
1X 3 =105 IR HEE GA 4 3 14663 BTG ~ 2
s 4 Ehlly VSR WEE Fiay 3 3 138132 BTG ~
1A 5
1 faEle  |[fER R A A 3 | 3i54i08 Pt IR~
FRAE 51 2 Ky | KRR I8 % 1 [3i35i71 P~
1X 3 TPRE | PRI bRaE BRI 4 | 510444 Pl TG~ 2
Tk 4 Fly  [ERE i b 2 | 3i51i69 Ve~
240 5
1 e REARIR 2 | 3 i47i82 P~
AR 2 2 gl | ] R 3 | 4 :i10:33 HEAE TG~
2 X 3 e [ 1 3 i441i08 R~ 2
ik 4
150 5
1 =245 = 3 4 10561 BTG ~
A 2 BRE |BRER 2 | 3i37i11 P~
2 X 3 Rl | RiER 1 [ 3i33:78 P~ 2
s 4
2%H 5
1 BRI E 2 | 314005 P~
R T 2 [ S 3 | 3i53i61 P TS~
4%+ 3 Rl Rl IR 1 [ 3i35i11 P~ 2
e 4
1FH 5
1 S 1 [ 3:i32:19 P~
AR 2 REAR  [RERIR 2 | 3:i35:i10 P~
4%+ 3 | 3 | 4:13:17 JE TG~ 2
Trisk 4
24 5
1 18 P 5, 3 3 1171+ 32 BTG ~
AR 2 Ff FIR} U 2 3 i15i40 P~
4+ 3 fEl [ R 1 [ 31i10i75 P~ 2
s 4 FERE  |FEIRER 4 4 11724 BTG ~
14 5
1 Koy | Kok 2 | 3i07i57 Vs~
FRAE 51 2 = 3 1 3i08i01 P TS~
4+ 3 e REARIR 1 [ 3i06:i76 Vs~ 2
e 4
240 5




FEp - fEH BN IN—% 718 B AL e PP
1 fEl R ) 3 43 i 07
DAL 2 Kok Bt d#it 1 | 4:i15:05 P~
1X 3 VeI SHl %E 2 | 4 :41:40 1
PRE 1R 4
5
1 MR JRIRT RS 4 | 4 i20:i15
DT 2 g i b FHEE ATORAR 2 3 4308
1X 3 HIGE R A 1 [ 3i42i14 P~ 1
PR 4 Ve KT hif 3 | 3i48i63
5
1 N 1 | 3:i50:09 P~
AR 2 VR 5 I 2 | 3i51:05
2% 3 e ] U2, 3 0233 1
RE TS 4
5
1 Ve IR 2 29 i 27
DA - 2 e o] Y2 1 24 i 74 P~
2% 3 VR B IR 3 33112 1
PRE R 4
5
1 JEE B IR 2 57 i 39
DL 2 P8 5 1 5073 PR~
4%+ 3 B IF U, 3 1771 1
PR 4
5
1 JEE VR 55 I 2 17 i 25
ARG - 2 B I U 1 14 i 98 P~
4%+ 3 PR IR 3 4376 1
RE TS 4
5
1 VeI i AaAT 1 19 i 22 P~
R T 2 FlR k)l ¥ 3 | 4:44:i06
1X 3 B JL B 2 | 4i24i51 1
PRE RS 4
5
1 R Eeam B 4 | 4 i59:i39
AR T 2 IR R E A 2 [ 3:i36:i62
1% 3 BRI WM Fndy 1 3 134122 R~ 1
PR 4 fE R AE aR 3 [ 3:48:82
5
1
AT 2 e ] U2, 2 05:63
2% 3 WA U 1 55 22 P~ 1
RE 1T 4
5
1
R T 2 e it U 2 0228
4X+ 3 Ve I 1 42 i 61 Vs~ 1
PRE RS 4
5
1 Vg R 3 20 i 71
AR T 2 S 2 | 3i07i63
4+ 3 I JEE I e I 1 05 i 04 R~ 1
PR 4
5




